Gay – Lussac’s Law

1. What would the pressure of a gas originally at 760 torr, if the temperature is lowered from 35.0 °C to 25 °C, at a constant volume?

2. A gas exerts a pressure of 350 torr at 20.0 °C. How many torr will it exert if its temperature is raised to 440.0 °C without a change in volume?
3. What is the pressure, in atmospheres, of a gas in a can that is heated from a room temperature of 20.0 °C to a final temperature of 500.0 °C, if the original pressure was 752 torr?

4. A gas has a pressure of 655 mm Hg at 25.0 °C. To what Celsius temperature must it be heated to raise its pressure to 825 mm Hg?

5. What is the new pressure inside a steel cylinder, if the pressure reads 3.6 atm when the temperature was 20.0 °C but after sitting in the sun the new temperature of the cylinder was increased to 32.0 °C?

6. A container has a pressure of 232.0 kPa at a temperature of 150.0 °C. If the temperature is lowered to the freezing point of water, what is the new pressure?
7. The planet Venus has an atmospheric pressure 9 times as great as the earth’s. (Assume earth’s standard pressure = 1 atm) If a 125,000 kL container at 25.0 °C on earth is transported to Venus, what will the temperature of the gas inside the container be?

8. 125.0 g of sulfur dioxide is moved from the inside of the laboratory (25.0 °C) to a warehouse, where the temperature can reach 73.0 °F. What will the pressure inside the container be? (Recall the conversion equation: °F = 1.8 x °C + 32)

9. 83.5 g of chloroflurocarbon, F2HCl is moved from a room (Temperature = 25.0 °C and standard pressure) to the top of a mountain. At 345 torr, what is the temperature of the gas?
10. The density of a gas at STP is 3.17 g/L. If the gas is warmed to 250.0 °F, what is the pressure , if the container sized is fixed?

11. A sample of neon at 298 kPa and 15.0 °C is warmed to 95.0 °C, what is the pressure in torr?

12. A 78.2 g sample of xenon has a pressure of 16.3 lbs/in2, in a container of a fixed size. It’s temperature is 36.0 °C, what will its pressure be in atmospheres, if the temperature is raised to 322 °F?
13. A helium sample at 672 mm Hg and 23.0 °C suffers a pressure change to 876 kPa, what is its temperature?

14. The chlorine tank car from Canada, -12.0 °C is originally filled at a pressure of 1.55 atm, when it is shipped to Tampa on a very hot day, 101.0 °F, what is its new pressure?

